HEtHE (BH) $£12EIN\T R MEE
B : [2](3)(4),[3] (3)(4) 23T, Zofluid 6.5 LT 5.

ROFMEZ K, (%5 )

(1) 22 =8% b=1log,c DIETELEZ\», 3 =1log,8 ([ 5.8 (1) ®)
() 1og101%0 DltiERHHE S, —2 (W 5.8 (3) @)

(3) logys 64 ZHIBDMICIE L 4 S o, g (9% 5.10 (1))

ROFMEZ K, (%5 H)

(1) f(z) = -3 4322 — 22+ 13 2o L, f/(z) = —32% + 60 —2 (17 6.4 (6))

(2) f(x) =2® =322+ 22 XL, y=f(z) D=2 KBTI 2EROHEXZ RO LIV,
y=2x—4 (M#&G6.7(3))

(3) f(x) = —22% — 322 + 120 - 3 DIGfEZ KD LE S, T/, Wiz 522 v OfEbWHFIL &
v, z=1THK4, »=—-2CTHiME-23%2¢% (F#E6.5 (5))

(4) f(z)=22%—3224+1D -1 <z <1IKBI3EAM BMI (BX0Zh%252% 2D
i) ZRDZI o, FAMEIZ 1 (2 =0), F/MElE -4 (z=-1) (H#E 6.6 (1) ©)

ROEMNEZ X, (# 5 )
(1) NERIT /(23:2 —x+5)dr ZEREL LI, %x% — %xQ + 5z +C (M&E 7.1 (8))
2
@) %%61/ (322 + 22 + 1)dz OffiE k7 S\, 11 (HE 7.2 (5))
1

(3) Wity = 22 — 20+ 1 & ol y MOMERIOHRE K% S s, % (I 7.4 (1))
(4) 2#i# y = —2% =32+ 4, y=22 — 2z DHTKIBOHEBZ RO ZH I v, 9 (M 7.4 (6)

ROGKMIEZ L. (%5 15)

(1) eyl {2,5,8, 11, .. } D—EZRDE I\, a, =3n—1 (M 9.2 (1) )

(2) B3, Sl — OFHHIIONR 8 MKk 0, o (M 93 (2) @)

(3) “E5H {3,16,29,42, ...} DFIEN &5 6 HE TOMERD L S 1o,
213 (i 9.4, M 9.2 (1) @)

(4) WD ay = —1, BT b, = (—2)" THZ 5N E {a,) O 4 B2 K% X,
—7 (M 9.6 (2) @)

(5) WIS a1 = 3, WHER anys = day — 2 % W7 THI] {an} O BHZ KD % X 1)
2

24 g x 4n=L (B 9.7 (2)

(2010.7.21 1BY : &)



